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Q1 [CO 3] Answer the following statements with proper justifications: o
a.  Why LR parsing is more atiractive as compared to LL parsing? 5,
b. If the grammar is ambiguous then there exist exactly one handle for%eac
sentential form, %,gﬂ’
¢. A grammar containing left recursion cannot be LI (1), the:%i’o&e a grammar
containing right recursion cannot be LR (1). i
Q.2 [CO 4] Consider the following grammar:
E>E+TI|T
T TF|F
F>F*|a|b '
a.  Construct the collection of LR (0) items for- thlé’*grarrm;ar
b. Construct the SLR parsing table for this g;;amlﬂ
¢. Show the moves of LR parser on the m%étgng B*;
Q3 [CO 4] Consider the following grammar: %
S > Aa|bAc|dc|bda
A->d i
Construct the collection of I;( (1)ifcms ﬁ)r this grammar,
Construct the parsing tabl&u ?mg CﬁR (1) algorithm.
Construct the parsing/table uting FALR (1) algorithm,
Prove that the abo%@%ra 15 LALR (1) but not S8LR (1),

Q4 {CO 5] a) Consider the folIc\fﬁg g;gﬁmar Prove that the given grammar is S-attributed or L- (3+2)
attribute. Design the syn,ta‘i’egglrgétg(f franslation tree and also mention the attribute of the tree node.
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antic rule and syntax directed translation tree for 3*5 the given grammar.
E—-TR

R—e

R—+E

T—-FS

S—e

S—*T

F—n



